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�f(x)äkëY����ê,� lim
x→0

(
1+x+ f(x)

x

) 1
x
= e2 ,¦f(0), f

′
(0), f

′′
(0)�

�(I�`²nd).
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®�f(x)3x = 1?��, �3x = 0�,�+�S÷v

f(1 + sinx)− 3f(1− sinx) = 8x+ o(x)(x→ 0) ,

¦­�y = f(x)3:(1, f(1))?����§.
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�¼êy = (x2 + 2x− 3)n(arcsinx)2, Ù¥n���ê, ¦p��êy(n)(1).
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y²ê�{cos(n+ a)}uÑ(Ù¥a´��"¢~ê).
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y²µ¼êf(x)3«mIþ��ëY�¿©7�^�´: éIþ?¿ü:�{xn},

{yn}, ��xn − yn → 0(n→∞), Òkf(xn)− f(yn)→ 0(n→∞).
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�¼êf(x)3x = 0?��, -F (x) = f(x)(1 + | sinx|), ¯��=�f(x)3

x = 0?�Û��, F (x)3x = 0?��?
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�¼êf(x)3k�4«m[a, b]þ½Â,é?¿x0 ∈ [a, b]�, lim
x→x0

f(x)�3(�x0´

«mà:�, d��4�´�A�üý4�)�÷v lim
x→x0

f(x) ≤ f(x0).

(1) y²µf(x)3[a, b]þk..

(2) y²µf(x)3[a, b]þk���.
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¯´Ä�3¼êf(x)3(−∞,+∞)þëY���÷vf(x) > 0, f
′
(x) = f(f(x))?

��Ñ\�(Ø, ¿y²�.
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�¼êf(x)3[−1, 1]þkëY����ê, �f(0) = 0.

y²µ�3ξ ∈ [−1, 1], η ∈ (−1, 1)¦�f
′′
(ξ) = 6f(η).
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